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QUESTION 1

Which approach to LSP path diversity provides the most control, but the least flexibility? 

A. Administrative Groups 

B. Shared Risk Link Groups 

C. Strict hop LSP paths 

D. Fast reroute 

Correct Answer: C 

 

QUESTION 2

If an LSP needs to use an admin group, which of the following configurations is NOT required on the Alcatel-Lucent
7750 SR? 

A. Assign an admin group to a MPLS interface. 

B. Configure CSPF on the LSP. 

C. Configure at least one strict hop on the LSP path. 

D. Configure an "include" or "exclude" statement on the LSP path. 

Correct Answer: C 

 

QUESTION 3

Click on the exhibit button below. 
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Consider the output shown; why is the label in bold font not in use? 

A. The router cannot do a SWAP of this label. 

B. The label does not match the egress label for the same FEC. 

C. The label is for a FEC for which the next-hop is the peer router 

D. The label was signaled in error. 

Correct Answer: C 

 

QUESTION 4

Click on the exhibit. 
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The path of a fast reroute protected LSP is R1-R2-R3. Which of the following about the protected LSP path is TRUE? 

A. All routers along the path, R1, R2, and R3 can be PLRs. 

B. If the R1-R2 link fails, router R4 becomes an MP. 

C. If the R2-R3 link fails, router R3 becomes a PLR. 

D. Router R1 is the LSP head-end and can be a PLR. 

Correct Answer: D 

 

QUESTION 5

What MPLS function should be performed by a router that receives a data packet with an MPLS label value of 0? 

A. Push an additional label onto the label stack. 

B. Pop the label. 

C. Swap the label. 

D. Pop the label and push an additional label onto the label stack. 

Correct Answer: B 
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